表 92 保險對象住院部分負擔狀況 —按權屬別分

中華民國九十三年

單位:件,新台幣元,日

	中華氏國八十二年			単位・仵,新台幣元,		
		權屬別 Ownership	件 數 Cases	日數 Inpatient-Days		
總	計	Grand Total		29,204,417		
醫	完	Hospitals	2,936,895	28,964,503		
;	公立醫院	Public Hospitals	891,278	10,778,496		
	行政院衛生署所屬醫院 及市立醫院	Hospitals Subordinate to DOH and Municipal Hospitals	332,700	4,541,626		
	縣市立醫院	County & City Hospitals	30,593	236,589		
	公立醫學院校附設醫院	Hospitals Affiliated with Public Medical Schools	113,579	1,113,460		
	軍方醫院(民眾診療)	Civilian Clinics of Military Hospitals	158,426	1,540,839		
	榮民醫院	Veterans Hospitals (VACRS)	253,528	3,283,375		
	機關(構)附設醫院	Hospitals Affiliated with Enterprises	2,452	62,607		
	公立中醫醫院	Public Hospitals of Chinese Medicine	-	-		
5	弘立醫院	Private Hospitals	2,045,617	18,186,007		
	財團法人醫院	Non-Profit Proprietary Hospitals	911,801	7,625,297		
	宗教財團法人附設醫院	Hospitals Affiliated with Non-Profit Proprietary Religious Organizations	102,217	772,625		
	醫學院校附設醫院	Hospitals Affiliated with Medical Schools	186,896	1,587,924		
	其他法人附設醫院	Hospitals Affiliated with Other Non-Profit Proprietary Organizations	56,116	773,802		
	私立醫院	Private Hospitals	788,587	7,426,359		
	私立牙醫醫院	Private Dental Hospitals	-	-		
	私立中醫醫院	Private Chinese Medical Hospitals	-	-		
診		Clinics	73,917	239,689		
;	公立診所	Public Clinics	-	-		
	行政院衛生署所屬診所 及市立診所	Clinics Subordinate to DOH and Municipal Clinics	-	-		
	縣市立診所	County & City Clinics	-	-		
	衛生所	Health Stations	-	-		
	公立學校附設醫務室	Clinics Affiliated with Public Schools	-	-		
	軍方診所 (民眾診療附設門診部)	Civilian Clinics of Military Clinics	-	-		
	榮民診所(榮家醫務室)	Veterans Clinics (VACRS)	-	-		
	機關(構)附設診所	Clinics Affiliated with Enterprises	-	-		
	公立中醫診所	Public Clinics Practicing Chinese Medicine	-	-		

備註:1.部分負擔不含掛號費。

^{2.}資料更新日期爲94年5月15日。

Table 92 Inpatient's Copayment Paid by Beneficiaries — by Ownership

2004 Unit : Case,NT\$,Day

		· .	Omt · Case, τττφ, Day
金額 Copayment Expenditures	平均每件費用 Average Copayment Per Case	平均每件住院日數 Average Length of Stay	平均每日費用 Average Copayment Per Diem
6,286,955,674	2,088	9.70	215
6,278,290,192	2,138	9.86	217
1,809,368,345	2,030	12.09	168
586,257,334	1,762	13.65	129
61,102,769	1,997	7.73	258
361,798,850	3,185	9.80	325
333,367,091	2,104	9.73	216
464,040,004	1,830	12.95	141
2,802,297	1,143	25.53	45
-	-	-	-
4,468,921,847	2,185	8.89	246
2,344,561,612	2,571	8.36	307
207,765,128	2,033	7.56	269
482,597,481	2,582	8.50	304
88,711,647	1,581	13.79	115
1,345,285,979	1,706	9.42	181
-	-	-	-
-	-	-	-
8,665,482	117	3.24	36
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
_	-	-	_
-	-	-	-
-	-	-	-

Notes: 1.Patient's copayment doesn't involve registriation fee.

^{2.} The data is updated on May 15, 2005.

表 92 保險對象住院部分負擔狀況 —按權屬別分(續完)

中華民國九十三年

盟社	•	<i>(</i> /+:	新台敞元	\Box

	下華 以國 九十二十	中位:	什,机口管儿,口
	權屬別 Ownership	件 數 Cases	日數 Inpatient- Days
私立診所	Private Clinics	73,917	239,689
財團法人附設醫務室	Clinics Affiliated with Non-Profit Proprietary Organizations	-	-
宗教財團法人附設診所、醫務室	Clinics Affiliated with Religious Non-Profit Proprietary Organizations	-	-
私立學校附設醫務室	Clinics Affiliated with Private Schools	-	-
事業單位附設醫務室	Clinics Affiliated with Enterprises	-	-
私立診所	Private Clinics	73,917	239,689
私立牙醫診所	Private Dental Clinics	-	-
私立中醫診所	Private Clinics Practicing Chinese Medicine	-	-
其他醫療機構	Other	-	-
財團法人其他醫療機構	Other Non-Profit Proprietary Hosp. & Clinics	-	-
藥局	Pharmacies	-	-
護產機構	Nursing Institutions	80	225
公立護產機構	Public Nursing Institutions	-	-
財團法人護產機構	Nursing Institutions Affiliated with Non-Profit	_	_
其他法人附設護產機構	Proprietary Organizations Nursing Institutions Affiliated with Other Non-profit	-	-
個人開設護產機構	Proprietary Organizations Personal Nursing Institutions	76	213
公立醫療機構附設護產機構	Nursing Institutions Affiliated with Public Med. Care Institutions	-	-
私立醫療機構附設護產機構	Nursing Institutions Affiliated with Private Med. Care Institutions	-	-
財團法人醫療機構附設護產機構	Nursing Institutions Affiliated with Non-Profit Proprietary Med. Care Institutions	4	12
其他	Other Nursing Institutions	-	-
其他醫事機構	Other Med. Care Institutions	-	-
公立精神復健機構	Public Psychiatric Rehabilitation Institutions	_	-
財團法人精神復健機構	Non-Profit Proprietary Psychiatric Rehabilitation Institutions	-	-
私立精神復健機構	Private Psychiatric Rehabilitation Institutions	-	-
公立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Public Medical Care Institutions	-	-
私立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Private Medcial Care Institutions	-	-
財團法人醫療機構附設精神復健 機構	Psychiatric Rehabilitation Institutions Affiliated with Non-Profit Proprietary Medical Care Institutions	-	-

Table 92 Inpatient's Copayment Paid by
Beneficiaries — by Ownership (Cont'd)

 2004
 Unit : Case,NT\$,Day

 金額
 平均每件費用 Average Consyment Per Average Consyment Per
 平均每件住院日數
 平均每日費用

金額 Copayment Expenditures	平均每件費用 Average Copayment Per Case	平均每件住院日數 Average Length of Stay	平均每日費用 Average Copayment Per Diem
8,665,482	117	3.24	36
-	-	-	-
-	-	-	-
-	-	-	-
8,665,482	117	3.24	36
-	-	-	-
-	-	-	_
-	-	-	-
-	-	-	-
-	-	2.81	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	2.80	-
-	-	-	-
-	-	-	-
-	-	3.00	-
-	-	-	-
<u>.</u>	-	<u>.</u>	
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-